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0000000Q$C_{k} = \sum_{ilj=k} A_{i}xB_{j}$
000000000 $(A+B)|C=A|C+B|C$ 00000
00000000

$FWT(A+B) = FWT(A) + FWT(B)$

$FWT(A) = (FWT(A_{0}),FWT(A_{0})+FWT(A {1})$0$A {0}$ 000D DO $$0 0000000
$2~°{n-1}$ 00 $A {1}$ 000000 $1$00000000 $2°{n-1}$ 00O

00 $or$ 00D O[0$FWT(A)NIT = \sum_{jli=i}A[jI1$ O

0000000000

$FWT(A|B)$

$=FWT((A[B)_{0},(A[B)_{1})$

$=FWT(A_{0}|B_{0},A_{0}|B_{1}+A {1}/B_{0}+A_{1}|B_{1})$
$=(FWT(A_{0}|B_{0}),FWT(A_{0}|B_{0}+A_{0}|B_{1}+A_{1}B_{0}+A_{1}[B_{1}))$

$=(FWT(A_{0})xFWT(B_{0}),FWT(A_{0})xFWT(B_{0})+FWT(A_{0})XFWT(B_{1})+FWT(A_{1})xXFW
T(B_{0})+FWT(A_{1})XFWT(B_{1}))$

$=(FWT(A_{0})xFWT(B_{0}),(FWT(A_{0})+FWT(A_{1}))x(FWT(B_{0})+FWT(B_{1})))$
$=(FWT(A_{0} ,FWT(A {0}+A {1})))x(FWT(B_{0} FWT(B_{0}+B_{1})))$
$=FWT(A)XFWT(B)$

ggd

O0000 $FFT$ 0000000 $IFWT$ 0000

$IFWT(A)=(IFWT(A_{0}),IFWT(A_{1})-IFWT(A_{0}))$
o

gooogd

ggd
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$FWT(A)=(FWT(A_{0}+A_{1}),FWT(A_{1}))$

$FWT(A+B)=FWT(A)+FWT(B)$
Oobooobooooboooboon

$IFWT(A)=(IFWT(A_{0})-IFWT(A_{1}),IFWT(A_{1}))$

gooo

000
$FWT(A)=(FWT(A_{0})+FWT(A {1}),FWT(A_{0})-FWT(A {1}))$
$FWT(A+B)=FWT(A)+FWT(B)$

$IFWT(A)=({\frac {IFWT(A_{0})-IFWT(A_{1})} 2} {\frac {IFWT(A_{0})-IFWT(A_{1})} 2})$

oo

#include<bits/stdc++.h>
using namespace std;
typedef long long 11;
const int MAXN= ;

int MOD= 5
int inv2=(MOD+1)>>1,N;
11 al/MAXN|,b1 MAXN],a2[MAXN],b2 MAXN],a3[MAXN],b3 [ MAXN;

void or FWT(1l *P,int opt
int i=2; i<=N; i<<=
int p=i>>1,j=0; j<N; j+=i
int k=j; k<j+p; ++k
P k+p|+=P[k|*opt,P k+p|=(P[k+p|+MOD)%MOD;

void and FWT(1l *P,int opt
int i=2; i<=N; i<<=
int p=i>>1,j=0; j<N; j+=i
int k=j; k<j+p; ++k
P 'k|+=P k+p|*opt,P k|=(P[k]|+MOD)%MOD;

void xor FWT(1ll *P,int opt /0000000000000 O0000000000O0 0O
int i=2; i<=N; i<<=
int p=i>>1,j=0; j<N; j+=i
int k=j; k<j+p; ++k
1l x=P|k]|,y=P k+p];
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Plkl=(x+y)%MOD;
P! k+p|=(x-y+MOD)%MOD;

opt==-1)P[k]=111*P[k]|*inv2%MOD,P k+p|=111*P|[k+p|*inv2%MOD;
int main
scanf("%d",&N) ;
N=1<<N;

int i=0;i<N;i++
scanf("%lld",&al(i]);
a2lil=a3[il=allil;

int i=0;i<N;i++
scanf("slld",&b1[i]);
b2[il=b3[il=bl[i];

or FWT(al,1);or FWT(bl,1);

int i=0;i<N;i++) allil=alli/*b1[1i|%MOD;
or FWT(al,-1);
and FWT(a2,1);and FWT(b2,1);

int i=0;i<N;i++) a2|i|=a2[1/*b2[1i|%MOD;
and FWT(a2,-1);
xor FWT(a3,1);xor FWT(b3,1);

int i=0;i<N;i++) a3|i|=a3[1i/*b3[1i/%MOD;
xor FWT(a3,-1);

int i=0;1i<N;i++

printf("slld ",al[i]);
putchar ;

int i=0;i<N;i++

printf("slld ",a2[i]);
putchar ;

int i=0;i<N;i++

printf("slld ",a3[1i]);

putchar ;

oo

1.https://www.luogu.com.cn/problem/CF1119H

goog

00 $n$ 0000000000 $xy,z$0000000000 ${a {it.b {i}.c {i}}sQoooooon
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0000000000000 000D0000 $aA{i}s00oo0oO $xs0sb {ips0oononon sysQ
$c {i}s 000000 $2z$J0000O $n$0000O0C0OO0ODO $FWTSOO OO $SIFWT$S QOO OO DO
000000000 $0(nk2~{khsJooooood

00000000000 000000000000000000000000000000000
$x,y,2$ 00 $FWT(F_{k})lil=c(i,a_{k})x+c(i,b_{k})y+c(i,c {k}z$ 00O $c(i,)$ 0000 D000 $j$ C
$i$ 0000000 $cij)=(-1)"{cnt(\&})}$ 000000000
$SFWT(F_{k}[i]=(-1)"{cnt(\&a_{k})Ix+(-1)~ {cnt(\&b_{k})}y+(-1){cnt(\&ec_{k})}z$ (0 OO OO
0000000000000 $FWT$SOO O $IFWT$J0 0000000000 $0(n+k)2~{k}$ 00 O
0000000000000000

O00000000d $S[il=\prod {k=1}"~{n} FWT(F_{k}[il$ 000 000D0O0OOCO0OOOOO
SIVMTS DO 0000000000000 00000000000D0OD $xy,z$000000000
0000000000000 0o0o0D0oDo0ooOoDooDo0oooOoDOoDoooOooDg $0(n)soo
$O(logn)$ 0 D0 0D0O0O0DOODO0ODOODODOODO0OOOODODOODOOOODOODODOODOODOOO
D0D0000 $a$ 000000000000 $(0,b_{k}e®a {k}.c {k}ea {k})$0ODODOODOODOO
000000000 $a{k}s000000000DO0ODO0O0O %as000000000O0O0O0O $is000O
0s3s0000000000000000 $xX+y+z,x+y-Z,Xx-y+z,x-y-z$ []

00000D000000000 $c{1},c {2}c {3}c {4}$0000000 $n$0000000O0
000000000000 $y$0000 $1$00000$0$000000 $FWTSOD OO0 $i$ 0O
000000 $(-1)~{cnti\&b {k}N}$ 0000000 $c {1}+c {2} {3}-c {4}$0000 00 $z%
0000000000000 000D00000D0000 $b {klec {k}$ODODO $ISODOOOOODO
O000000000Og $FWT$SDDDDDDDODDDODODODO

$(-1)~ {cnt(\&b_{k}}-1)~{cnt(\&e_{k}I$ 00000000 $c_{1}-c {2}-c {3}+c {4}$0000 0
0000000000000 000000000000 $0((k+logn)2~{k}$ 000 0 0O

#include<bits/stdc++.h>
using namespace std;
typedef long long 11;
const int MAXN= ;

int MOD= ;
int inv2=(MOD+1)>>1,N,n,X,y,Z;
11 al[MAXN],b1[MAXN|,a2[MAXN],b2[MAXN],a3[MAXN],b3[MAXN];

11 quick power(1l a,1ll t,1l mod
11 ans=1;
t
t&1)ans=ans*a%smod;
a=a*a%mod;
t>>=1;

’
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ans;

void or FWT(1l *P,int opt
int i=2; i<=N; i<<=
int p=i>>1,j=0; j<N; j+=i
int k=j; k<j+p; ++k
P k+p|+=P k! *opt,P k+p|=(P[k+p|+MOD)%MOD;

void and FWT(1ll *P,int opt
int i=2; i<=N; i<<=
int p=i>>1,j=0; j<N; j+=1i
int k=j; k<j+p; ++k
P k|+=P|k+p]|*opt,P[k|=(P[k!+MOD)%MOD;

void xor FWT(1l *P,int opt
int i=2; i<=N; i<<=
int p=i>>1,j=0; j<N; j+=1i
int k=j; k<j+p; ++k
1l x=P[k],y=P[k+p];
Plk!=(x+y)%MOD;
P k+p|=(x-y+MOD)%MOD;

opt==-1)P k|=111*P[k]|*inv2%MOD,P k+p|=111*P|[k+p|*inv2%MOD;
int main
scanf("%d %d",&n,&N) ;
N=1<<N;
int sum=0;

scanf("%d %d %d",&x,&y,&z);
int i=0,a,b,c; i<n; i++
scanf("%d %d %d",&a,&b,&c);
sum™=a;
b™=a;
c™=a;
allbl++;
a2l cl++;
a3 b™cl++;

xor FWT(al,1);

xor FWT(a2,1);

xor FWT(a3,1);
int i=0; i<N; i++
int cl=(111*n+al(il+a2/il+a3[i])%MOD/4;
int c2=(1ll*n+al[i]-c1-c1+MOD)%MOD/2;
int c3=(111*n+a2/il-c1-c1+MOD)%MOD/?2;
int c4=(111*n+a3[i]-cl-c1+MOD)%MOD/2;
11 ans=1;
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ans=ans*quick power((1l1*x+y+z),cl,MOD)%MOD;
ans=ans*quick power((1l1*x+y-z+MOD)%MOD,c2,MOD)%MOD;
ans=ans*quick power((1l11*x-y+z+MOD)%MOD, c3,M0D)%MOD;
ans=ans*quick power( (1ll*x-y-z+MOD*2)%MOD, c4,MOD)%MOD;
bl/il=ans;

xor FWT(bl,-1);
int i=0;i<N;i++
printf("slld ",bl[i”sum]);

2.https://www.luogu.com.cn/problem/P6097
0000000000000 00000000000 $ij=k$00000 $i\&=0$000000
$ij=k$ 00000000 $FWT$ DO O OO

00000000000 $popcount(i)+popcount(j)=popcount(ijj)$ 0 0000 0000O0OOO0O0OO
O $popcounts 0O O O $f_{i,j}=a_{j}(popcount(j)=i)$ 0O O $f_{ij}=0s0$g_{ij}s 00D OODO
$h_{i}=\sum {k=0}"{i}f {k}xg {i-k}$ 0O OOCOO0O $h {popcount(i),i}$ 00O DODO
$0(n~{2}2~{n})$ O O

#include<bits/stdc++.h>

using namespace std;

typedef long long 11;

const int MAXN= ;

const 1l MOD=1e9+9,inv2=(MOD+1)>>1;

int N,lim,pc/MAXN];
int a2 MAXN |, b2 MAXN | ,ans MAXN | ;

void or FWT(int *P,int opt
int i=2; i<=N; i<<=
int p=i>>1,j=0; j<N; j+=1i
int k=j; k<j+p; ++k
P k+p|+=P[ k! *opt,P k+p|=(P[k+p|+MOD)%MOD;

void solve or FWT
int i=0;i<=lim;i++) or FWT(a2[il,1),or FWT(b2[i],1);
int i1=0;i<=lim;i++
int j=0;j<=1i;j++
int k=0;k<N;k++
ans|il[kl=(ans[i][k!+111*a2[j ]| [k|*b2[i-j ] kI!%MOD)%MOD;
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int i=0;i<=lim;i++) or FWT(ans[i],-1);

void print or FWT
int i=0;i<N;i++) printf("%sd ",ans|pcli i]);

putchar ;
int main
scanf("%sd",&N) ;
1im=N;
N=1<<N;
int i=0;i<N;i++) pclil=_builtin popcount(i);

int i=0;i<N;i++) scanf("%d",&2[pcli il);
int i=0;i<N;i++) scanf("%d",&b2 pcli il);
solve or FWT();
print _or FWT();

’
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